. VCE & PDF https://www.pass4itsure.com/1z0-432.html
g 2024 Latest passditsure 120-432 PDF and VCE dumps Download

PassditSure.com

170-43208As

Oracle Real Application Clusters 12¢ Essentials

Pass Oracle 1Z20-432 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-432.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-432 PDF Dumps | 120-432 VCE Dumps | 1Z0-432 Exam Questions 1/3


https://www.pass4itsure.com/1z0-432.html
https://www.pass4itsure.com/1z0-432.html
https://www.pass4itsure.com/1z0-432.html

VCE & PDF https://www.pass4itsure.com/1z0-432.html
a 2024 Latest passditsure 170-432 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

You are doing a RAC implementation for a customer. Your customer states that they have the hardware to install
additional network adapters on each RAC node. Identify three reasons for which they might need additional adapters

A. Each server has at least two network adapters

B. Each server was accidentally ordered with only one network adapter

C. Each server is using network-attached storage on one or two of their adapters
D. They want to use the Redundant Interconnect Usage feature

E. Each server has two network adapters and RAC requires at least three

Correct Answer: BCD

QUESTION 2

The DISK_REPAIR_TIME attribute has expired after a transient disk error. What happens next?
A. Nothing, it was only a warning. All the disks are OK

B. This means that the disk is repaired and is put back in the ASM disk group.

C. Oracle ASM drops the disk.

D. This means that Oracle will use ASM Fast Mirror Resync to sync the rest of the disks.

Correct Answer: C

QUESTION 3

Which command can be used to create an Oracle ACFS file system resource?
A. crsctl create resource -t filesystem -f /dev/asm/ -m /

B. srvctl add filesystem -m / -d /dev/asm/

C. asmcmd fscreate - - resource ACFS mount / -- file/dev/asm/

D. srvctl create resource -fs/dev/asm/ -mount /

E. SQL > alter system add filesystemdevice = “/dev/asm/\\'mount_dir = "A\’;

Correct Answer: B

QUESTION 4
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Which two components are required to set up a SCAN listener for your customer\\'s 12cR1 RAC environment?
A. 3virtual IP addresses on the same subnet DB

B. 3 private IP addresses on the same subnet

C. 3 private IP addresses on different subnets

D. One single name that resolves to 3 1Pv4 or 1Pv2 addresses

E. One single name that resolves to 3 1Pv6 or 1Pv4 addresses

Correct Answer: AE

QUESTION 5

How many ASM Disk Group(s) do you need, if you want to have the redundancy level set to high (triple mirroring) for a
FILE?

Al
B.2
C.3
D. It depends on the number of different disks in a Disk Group, not the number of Disk Groups.

Correct Answer: D
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